oh& % WlalAlo] 4Yshe AL o= AU

®5:2=10:7 ® 3:6=30:15 ® 25:15=5:3

@ 40:30=3:4 3 9:-4—=19": 14



3} Fgo] 22 Lol 1o gre 2
1:39] 1] Zhk 2+ T)



15

® 15 B 45 @ 50 B 65

@D 5



€ HEA ez vepd wf si=2] o2 A2 o= ZARIA]

1
2- =2
4

(oAl \V]

ZAQ.

Rl

@D 9:4=18:8 @ 18:8=9:4 ® 4:8=9:18

@ 9:18=4:8 B 8:9—=4":18



<l

@ ¥-5500 €, 54-2500

<l

@ ¥-6000 ¥, 54-2000

2]

@ F-4800 ¥, 5/3-3200

=

® 9-5000 ¥, 548-3000

%

A_3500

=
le)

%’

® 3-4500



—

Hdgo

[e]

Ield =15} el ¢

8=
N

14 Q1 H]elA] |19 ghe] o

s 4 e

o] Hﬁs ——’6-—_01-%6) ]

OHU. Ox

i
J

Ot

filo



7. chglA st T 5o HlE FehAL

@ Hgto] 5 o]
Ayt
© O@ollA = HlE A1 Y] 22 5 9F 21 YTt

go 7ol v} Hla AL BE 4

I3
o

SR
c






9. (hHYelA () I7HA 2 713 232 o]Hell 30 % 7F &2HA 2600
Qolaty gtk @ 27] Moo= dupgdi=z] 1A L.

e 9






AAZF 177 10200 94U TE BA 479 gholl thst AA 739
Zkol vl 5 ZhtslA YehfAl L.

@D 7-4 @ 3-4 B 4-7 @ 7-3 B 174



12, ohe HlAoA 215l Fol 40 L o, Ax 0] FHe FaAL. (B,
O A5yt

(O©+3):@=2: ©




13.

opHA 7} BES F

= Aol
52

Yk
-

"o &

=i o

of 7} 600 Yolehe A& Aot

g ot

KA @7} 540 5 - 3.0 W2 o] Zhgayth,

A]



14. 7139t A5 0] wzle] vzt 5. 0 o, AEAR 15412 AelA
P AE )2 AR @ A7 AR P .

B e Az



S0l 1:20000 91 FIoflA{e] A7t 5em i, AA] Azl=
AutRIA] F5HA 2.
® 10000m @ 100000m ® 1km

@® 10km ® 100km



